0[—3.438.107"]
1/-3.438-107°
2| —0.018
= 3| -3.438.107° |V
4 0
5| —0.009
49998

=0.708 V

1) create a mask vector using a boolean expression (TRUE --> 1, FALSE --> 0)

= >

= .5V  or shorter: ::( >

2) Using a range variable and either the if-function or the if programming structure

:=ORIGIN .. last ( )

Check if we get consistent

3) Same as 2) but using a for-loop instead of the range variable

:=for - € ORIGIN .. last(
— if( >

:= || for . € ORIGIN .. last (
—if >

1

|5 v
else
oV

return

4) Writing a generic utility function

(

= if( > ,5 V.0 V) results using the different
! ! methods.
= |l if >
— = 1
H 5V
else = =1
H 0V
,5V,0 V)
= =1
— = 1

, ):=|for . € ORIGIN .. last( )
S if( < ) )

S~—

return

,0V,5V) = =1



